Tekla Structures

BILL OF MATERIAL

RD 3-8l 7'-47he 7'-47hg 7-47he 3'-81/y
S < = S
— < ~ '
! — (@) !
R1-p26 "~ ) N
= I
i e
] oo o Rl't4 Rl'p26
NOTE 2: PLEASE NOTE THAT,
HALF THE PANEL LENGTHWILL
VARY DUE TO THE CAMBER IN TRUSS
R1-a6
3/8
R1-p26
/Rl-p26 R1-p12
o B
1 B |
-0 %)
I~ 0
™ N
i o
™ —
3'-81, 7'-4'h6 7-4'he 7-4'he 7-4'he 3-8l
SPAN OTR-01 (SB) VIEW "E "
RD
> = & =} 9
(00) Te) Te) o o
& 0 % = 2
— — Te) !
i N ™M
3 3-8%4 7-4'he 7-47he 7-4'he 7'-47h6 ® 3-8,
= I | | 1 e | | R
iy Qﬁ % fp!igﬁ L J_—f—_‘jj‘_* s
T 2w R1-p7 ROYAIRN - -P7 1L 2 © R1-p7[: -p9|| i
\Rl_p% ; 2 p R1-p7 . R1-t5 R1-p7 ; . ‘?: p ‘ . R1-p9 F Rl—p26/
13 }\ N | N\ U RN | 2\ :' 13
| N 1 | 1 N\_R1-a8 | o =
|| R1-AN2 N\ R1-a3 'IR1-a4 \R1-a3 ' |IR1-a4 \R1-a3 ' |R1-a4 2\ DET. H I |R1-al3 o O
| N\ ‘ N\ | N ‘ N\ OTROL-17S | @
138 | \ | N | \ | \ i R1-t5
i \\\\ \\\\ \\\\ \\\\ i| 13
%/Rl p26 Rl-p24\ N\ | § N\ | N\ | N\ | R1-026
d R R1-p24Ys ] o Rip2afe ]| R1-t6 | Rip24fs o R1-p8fe L = | "TPP
i - - - S - . e A ——
[:E 5:]
3'-83g 7'-4h6 7'-47he 7'-47h6 7'-49 6 3-81
NAANAS
36'-10%6

ELEVATION VIEW "B " SPAN OTR-01 (SB)
7'-47h6 7'-4'he

3'-81/,

7'-4'116 7'-4'16 7'-47116

29'-513, ¢

SPAN OTR-01 (SB) VIEW "E "

6'-0
\ m_/

MARK | QTY DESCRIPTION LENGTH WEIGHT REMARKS
R1-AN2 1 ANGLE SQ-1/BEV-1
R1-AN2 1 L3-1/2X3-1/2X3/8 5'-4 15/16" 46 HOT DIP GALVANIZED A709-GR.36
R1-a3 3 L3-1/2X3-1/2X3/8 8'-3 3/8" 211 A709-GR.36
R1-a4 3 L3-1/2X3-1/2X3/8 5'-4 15/16" 138 A709-GR.36
R1-a6 15 L3-1/2X3-1/2X3/8 6'-1 3/4" 784 A709-GR.36
R1-a7 1 L3-1/2X3-1/2X3/8 6'-1 3/4" 52 A709-GR.36
R1-a8 1 L3-1/2X3-1/2X3/8 8'-3 5/16" 70 A709-GR.36
R1-al3 1 L3-1/2X3-1/2X3/8 5'-4 15/16" 46 HOT DIP GA***  A709-GR.36
R1-t4 1 TUBE SQ-2
R1-t4 1 TUBES 9/16"X3/8" 29'-5 1/16" 602 HOT DIP GALVANIZED API 5L X42 PSL2
R1-p21 8 FL3/8"X6 1/4" 1-11/4" 70 A709-GR.36
R1-p26 2 PD13 9/16"X4" 0'-1 3/8" 93 A709-GR.36
32 5/8"@ A325N BOLT 0'-1 3/4" Site
9 1"@d A325N BOLT 0'-4 1/4" Site
R1-t5 1 TUBE SQ-1/BEV-1
R1-t5 1 TUBES 9/16"X3/8" C=15 36'-9 9/16" 753 HOT DIP GALVANIZED API 5L X42 PSL2
R1-p7 4 FL3/8"X5 1/4" 1-1" 29 A709-GR.36
R1-p9 1 FL3/8"X5 1/4" 0'-6" 3 A709-GR.36
R1-p12 5 FL3/8"X6 1/4" 1-11/4" 44 A709-GR.36
R1-p26 2 PD13 9/16"X4" 0'-1 3/8" 93 A709-GR.36
38 5/8"@ A325N BOLT 0'-1 3/4" Site
R1-t6 1 TUBE SQ-1/BEV-1
R1-t6 1 TUBES 9/16"X3/8" C=15 36'-9 5/8" 753 HOT DIP GALVANIZED API5L X42 PSL2
R1-p8 1 FL3/8"X5 1/4" 1'-9 3/4" 12 A709-GR.36
R1-p12 5 FL3/8"X6 1/4" 1-11/4" 44 A709-GR.36
R1-p23 1 FL3/8"X6 1/4" 1-11/4" 9 A709-GR.36
R1-p24 4 FL3/8"X5 1/4" 1-1" 29 A709-GR.36
R1-p26 2 PD13 9/16"X4" 0'-1 3/8" 93 A709-GR.36
44 5/8"@ A325N BOLT 0'-1 3/4" Site
TOTAL WEIGHT THIS DRAWING 3976

NOTE 1: PLEASE NOTE THAT, THE
PANEL LENGTHWILL
VARY DUE TO THE CAMBER IN
TRUSS

TRI-CHORD TRUSS
SECTION

IFINISH : HOT DIP GALVANIZEDI






